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M E. coli 4 “primosome” & “replisome” 4 %) dy ¥R L E Ham? mEeiith BT (10 4)

2. HERATIHE C RiFRB L - (B245% %10 9)
(1) heterogeneous nuclear messenger RNA
(2} small nuclear ribonucleoproteins
(3) frameshift mutation
(4) nucleosome
(5) RFLP
3. MATFTFERAERWAS > (10 )
(1) 3R 6/ 714864 (ransoription) #%6 RNA A 51 1 (8455 7 8) 2 2 4)
(2) B3| 7T 4 3% (translation) 2% 5 {Epk £ 8% - HF 3R E £ =18 genetic codon Z {(RNA &) anticodon
#1477 % A wobble rules 3.8 - (4 4)
() B KA b RARE T 8 B ALA A stop codon o 4 a)
5'-ATGTTACCGGGAAAATAG-3!
3'-TACAATGGCCCTTTTATC-5

4. ¥ Lac operon = £ AR P (10 points)

5. HRMIAMAYME #IE L e R R B A (10 points)

6. W&EMGBEMNSHmiEs RERERARY  HudhLan ERAE - HB - RKREHEH AR - (6%)
b RREMB B REM T ARFELEBM - AR R B 7 (4%)

Zi
a.  How do you see the importance of meiosis in Life? (2%)

b.  When does the crossing-over take place? Before or after Metaphase [? (2%)
c.  How many crossing-over a chromosome pair may have? (2%)
d.  How to relate Mendelism with meiosig? (4%)

8. A geneticist studying the pathway of synthesis of phenylalanine in Neurospora isolated several mutants
that require phenylalanine to grow. Table indicated the growth performance of Neurospora mutants (+:
growth; -: no growth):

Additive ( Fihodhy)
L
phenylpyruvate | prephenate chorismate phenylalanine

Wild-type ot + + i

Mutant 1 - = = &

Mutant 2 + + 5 +

Mutant 3 + 5 - +
# B T 7T %t &9 phenylalanine 4 5% %48 7 (10%)

9. HKENSHR T HAEETEERERY T4 ek T RBGYE LB B tmppin ( RHAEd) +uy
DNA - mikZa HHA RNA; (10%) (B7F:HAHBTE  HF - K AT B A B E)

10. An organism has six pairs of chromosomes.

a.  Inthe absence of crossing over, how many different chromosomal combinations are possible in the
gametes? (5%)
b.  Considering crossing over, how many different chromosomal combinations are possible in the

gametes? (5%)
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